1610

Isometric View

Enough Space
For Wire Option

DETAIL D

22

Variable Gap
Between Post And
End Fixing Bar

3mm Thick

SCALE 4:15
SCALE 2:15
End Fixing Bar Parts List Optional Extras For Added Wire System
Part Code Description Material
ltem/ Part No Description Material Qty Galvanised Fencing Wire| Mild Steel
End Fixing Bar With |\ 14 steel 040201264/040201315 | ™5 5mm x 25kg Coil | Galvanised
] welded On Thrust | Gaivanised ] Galvanised Fencing Wire| Mild Steel
I\/F\’I]c(n)‘ri égritri”:\e)x 040201315 3.15mm x 25kg Coill Galvanised
S002HSTOX30 Set Bolts SteelBZP | 3 0702007 Eye Bolfs M6 x 152 mm, | Mild Steel
5002HN10 M10 Hex Nut Steel BZP 3 c/w Nuts And Washers | Galvanised
5002FW10 M10 Plain Washer | Steel BZP 6 1301609 Ferrule - Optional Aluminium

6
SCALE 4:15
| |
11 11
H D an Tel: 01708 253545
Email: sales@brundle.com
Web: www.fhbrundle.co.uk
HAHYHH
Q @ MATERIAL: Mild Steel
UNLESS OTHERWISE SPECIFIED FINISH: Hot-Dip Galvanised
ALL DIMENSIONS ARE IN MILLIMETERS
NAME DATE | REVISION | oo oe. N/A
DRAWN LT 13/05/2016 B

REV. BY

WEIGHT: 4.16 Kg

End Fixing Bar And Panel
Are Fixed Together With
M10 x 30mm Bolts, Hex
Nuts And Plain Washers

DETAIL C

SCALE 1:2

NOTES: Customer Information Drawing
DESCRIPTION: End Fixing Bar - HDG

PART NO: 55EF01

DWG NO: 0149-020-17 A2

SCALE:1:10 DO NOT SCALE DRAWING SHEET 1 OF 1



	Sheet1
	Drawing View7
	Drawing View17
	Detail View B (2 : 15)
	Detail View D (4 : 15)
	Detail View E (4 : 15)
	Detail View C (1 : 2)
	Drawing View24


